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ER27EIAIBIRE (Bfr: A
7l B LEE BIEEE 1R
I BEEDE
1. RENEE
HE&ES 577,840 2,238,322 A 1,660,482
KIAE 23,500 33,500 A 10,000
REVEESET (A 601,340 2,271,822 A 1,670,482
2. EEEE
(MERBTZE
EHTES 57,000,000 57,000,000 0
HKXEIESE B) 57,000,000 57,000,000 0
QFDHDEEEE
LTEEE 8,064,785 8,064,785 0
EHTESE 30,000,000 30,000,000 0
TDMDEEEESE (C) 38,064,785 38,064,785 0
BEEESET (D)=(B)+(C) 95,064,785 95,064,785 0
BESE (E)=(A)+D) 95,666,125 97,336,607 A 1,670,482
I &EDH
1. REBE
RiLE 170,186 19,000 151,186
REBAEESET P 170,186 19,000 151,186
2. ExEaE
=t =i a(¢)) 0 0 0
BESET H=(F+G) 170,186 19,000 151,186
Il IERRBAEEDER
1. I8 EIERRELE
IEEEREAESET D=(B) 57,000,000 57,000,000 0
OBERME~ADFTLEE) (57,000,000) (57,000,000) (0)
OB TEEE~DIEHE) (0) (0) (0)
2. —fRIEBREAE (J)=(E)-(H)-(D) 38,495,939 40,317,607 A 1821668
ERBMESTT K=0D+HJ) 95,495,939 97,317,607 A 1821668
BERVIEKRMESE L=(HHK) 95,666,125 97,336,607 A 1,670,482
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k2753 A31 BRI (Bfz: M)
7 = LEE BIEE p=piA
I BEDH
1. RBNEE
HeHEe 3,213,511 2,306,355 907,156
KIRAE 335,170 163,567 171,603
RBEESET W) 3,548,681 2,469,922 1,078,759
2. BIEERE
(MZDhEEEE
TOMEEEESEET B) 0 0 0
BIEEESE (C)=B) 0 0 0
BESF (D)=(A)+(0C) 3,548,681 2,469,922 1,078,759
I BEDHE
1. REBAE
*iLE 5,859,082 2,579,260 3,279,822
KIHERE 551,600 306,600 245,000
KIENTRE 72,000 23,900 48,100
CIEd 0 60,000 A 60,000
EYE 189,061 172,775 16,286
RBBESE B 6,671,743 3,142,535 3,529,208
BEEE F)=E) 6,671,743 3,142,535 3,529,208
I IEBRBAEEDER
1. 5 EIERKEL
IEEIEKRBESET (G) 0 0 0
OLERME~DTLER) (0) (0) (0)
OLHFEEE~NDTLER) (0) (0) (0)
2. —{RIEDKRBFE (H)=(D)-(F)-(G) A 3,123,062 A 672613 A 2,450,449
EREAESET (D=(G)+H) A 3,123,062 A 672613 A 2450449
BERVIEREAESE (W=(F)+1) 3,548,681 2,469,922 1,078,759




EEdREXRBER

ER27EIAIBIRE (Bfr: A
Fl B — R ESET HAlEE & &t
I BEDE
1. RENEE
HEHE® 577,840 3,213,511 3,791,351
KIRAE 23,500 335,170 358,670
REIEESET (A 601,340 3,548,681 4,150,021
2. EEEE
(1)EKEBFE
EHTES 57,000,000 0 57,000,000
HKXEIESE B) 57,000,000 0 57,000,000
QFDHDEEEE
LTEEE 8,064,785 0 8,064,785
EHTESE 30,000,000 0 30,000,000
TDMDEEEESE (C) 38,064,785 0 38,064,785
BEEESET (D)=(B)+(C) 95,064,785 0 95,064,785
BEESE (E)=(A)+D) 95,666,125 3,548,681 99,214,806
I &EDH
1. REBE
RiLE 170,186 5,859,082 6,029,268
KIHEMRE 0 551,600 551,600
KIEANTRE 0 72,000 72,000
FEYE 0 189,061 189,061
REIBESE P 170,186 6,671,743 6,841,929
2. ExEaE
=t =i a(¢)) 0 0 0
BESET H=(F+G) 170,186 6,671,743 6,841,929
Il IEBREAEEDER
1. I8 EIERREL
IEEERMESET O© 57,000,000 0 57,000,000
OBERME~ADFTLEE) (57,000,000) (0) (57,000,000)
OB TEEE~NDFT L) (0) (0) (0)
2. —fRIEBREAE (J)=(E)-(H)-(D) 38,495,939 A 3,123,062 35,372,877
ERRBESET (K=(D+J) 95,495,939 A 3,123,062 92,372,877
BERVEKRMESS LW=H)+K) 95,666,125 3,548,681 99,214,806




